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	Latent variables
	Manifest variables
	Survey items
	Responses

	Insurance awareness
	X1
	Have you purchased any commercial pension insurance or commercial health insurance?
	No=0, Yes=1

	
	X2
	Have you utilized social medical insurance?
	No=0, Yes=1

	
	X3
	Do you know that there is an LTCI pilot in Guangzhou city?
	No=0, Yes=1

	Satisfaction with LTCI policies
	Y1
	How would you rate your satisfaction with the LTCI funding policy?
	Very dissatisfied=0, Dissatisfied=1, Neither satisfied nor dissatisfied=2, Satisfied=3, Very satisfied=4

	
	Y2
	How would you rate your satisfaction with LTCI payment policy?
	Very dissatisfied=0, Dissatisfied=1, Neither satisfied nor dissatisfied=2, Satisfied=3, Very satisfied=4

	
	Y3
	How would you rate your satisfaction with the LTCI disability evaluation processes?
	Very dissatisfied=0, Dissatisfied=1, Neither satisfied nor dissatisfied=2, Satisfied=3, Very satisfied=4

	Trust in LTCI system
	Z1 
	How would you rate your willingness to recommend the LTCI pilot program?
	Very unwilling=0, Unwilling =1, Not so willing=2, Willing =3, Very willing=4

	
	Z2
	How would you rate the degree of importance of the LTCI system?
	Very unimportant=0, Unimportant=1, Not so important=2, Important=3, Very important=4


Note: X1: Purchase of private insurance; X2: Participating social insurance; X3: Knowledge of LTCI pilot; Y1: Satisfaction with funding; Y2: Satisfaction with payment; Y3: Satisfaction with disability evaluation; Z1: Willingness to recommend the LTCI pilot; Z2: Importance of LTCI.

